TERREABLIERELRRIIRAD

dtiEE R ITER 2 BIET Erk28%E12A1BHE
T B K E: 9 &t BIAAOL| #HEH
SEfT 56 78 134 1 76
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=i 126 136 262 -1 163
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ENIN 255 272 527 -1 279
FaHT 404 469 873 -5 401
JoHT 180 212 392 0 192
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TJIET 84 75 159 1 80
7<ETHT 342 379 721 -1 308
FEF| 111 119 230 -1 98
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ITEE 57 80 137 0 53
NTEE 83 69 152 0 62
AR 374 441 815 -3 357
LRIK 129 136 265 -1 97
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HXHT 305 297 602 -1 292
ERHT 178 179 357 -1 178
HEYE 141 157 298 -3 159
KNEF 319 344 663 -4 274
AEd 345 372 717 -9 293
Az —TEILX 362 417 779 1 337
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FRET 108 102 210 -1 139
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AER 205 223 428 3 190
AE 287 274 561 0 214
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